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What are the different dimensions of food security? Examine India’s status in terms of ensuring
food security with regard to these dimensions. (Answer in 150 words) : 10
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Modern technologies such as blockchain and ChatGPT are powerful tools with immense potential

to transform agriculture into a more efficient and sustainable sector. Discuss in the context of
India. (Answer in 150 words)
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What factors have led to the recent acceleration in the trend towards de-dollarization of the global
economy? Do you think the dollar will lose its dominance anytime soon? (Answer in 150 words)
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Despite significant pressure from the developed countries to alter its food subsidy regime, there is

merit in India trying to retain its policy support for the poor in the country. Discuss. (Answer in
150 words) 10
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Several initiatives have been taken by the government towards addressing India’s water needs,
but the issues of water availability and water quality still warrant prioritised intervention. Discuss.
(Answer in 150 words) 10
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What are the major drivers of glacial retreat in the Arctic? Describe the potential impact of thc
retreat of Arctic glaciers on the ecosystem. (Answer in 150 words)
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Space tourism, which was viewed as something straight out of a science fiction movie, is now
becoming a reality albeit not without hindrances. What are the challenges associated with space
tourism? What measures can be taken to address these challenges? (Answer in 150 words) 10
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THRAT 2 (ITT 150 9=zt & i) -
Global health experts widely believe that the development of CAR-T cell therapy can be a game
changer in the treatment of cancer. How can CAR-T cell therapy overcome the limitations of

CRISPR-Cas9 technology? (Answer in 150 words) 10
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Discuss why the rising deployment of new and emerging technologies by prominent wolcnt
extremist organizations demand concerted global efforts. (Answer in 150 words)

=T . 3 TsT zqmq—
WS TR e TR SN,
O =y How Seewm TN |
o ol T —Cr=r = < =NA &\

T ';i;:\" o
2 g A

B N I L Sty

A & qadla e oy

-)S(-ﬂaqu’\ o

- SROT
R e

'y‘&‘ m\ ? O\ <Y

® TW‘ 3l "%ﬁq— |

L*TW oA\ E3RE Taws

[ TRAT 7QULSAT SRTe o |

— vk *<\m4“\?7w)'wa-wr

T TEWTWET Sz ol ey

@ RS "-ai‘r% \—fqu?

;" oo e e
at=

—

==
I &}

22




2 T W g
Srar sem (L-e-T 40

—WL_;-?«"%'\_W\

<+
-
R A S
@ T R .
TN At

C :
@ wfbﬁﬁq Am%

%ﬁa?ﬁam
SEX B e AN

® TRRRITE B NG 2
TET (- AT v

Ry

VIEX (AL
TRAT ISPC?‘Q‘;P—EN"S&!Q
HUA)) el vk *JTVJ\ R
resmer (WPRad) PRy TRFE o
T TR TAD o\ Amee

www?gnias[.m ;1 tﬂ-&_? %V[ Ui W?{

i &
¥ wf
il e

Candidates
must

Wi
this margin



10.

[

THATT AT TR Fi TZATA F A12 ATEAaT =707 T@T (LAC) 9% 479 &7 g4 & 9T 9
e AT I HATEAT SA AT IS =T B qg2 W T £ 39 &7 § [TBP g fAars
ST ATt T 97 == FifSw) (397 150 9=at § £if5m)

With the Line of Actual Control (LAC) remaining tense after the Galwan and Yangste incidents

and both India and China ramping up infrastructure in the border areas, discuss the role that ITBP
plays in the region. (Answer in 150 words) 10
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Do you think there is a need for a shift from ‘land productivity’ to ‘irrigation water productivity’

in India? Justify your answer. What are the challenges in making this shift? Explain. (Answer in
250 words) 15
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Examine the role that green hydrogen can play in unlocking the energy security of India. How
can the National Green Hydrogen Mission help India in achieving its energy goals? (Answer in
250 words) 15
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The government has been weighing a transition from | minimum wage to living wage in recent
times. What are the benefits and constraints in the adoption of living wage in India? (Answer in
250 words) 15
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The Union Budget affects almost every sector of the Indian economy, yet neither the budgetary

processes nor the budget policies come under substantial public scrutiny. Do you agree? Justify
your answer. (Answer in 250 words) 15
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India has been able to transform itself from a milk deficit country to the world’s biggest milk
producer, but the productivity of dairy animals in the country remains a concern. Discuss.

(Answer in 250 words) 15
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While climate change is responsible for crop failures, the agricultural sector itself is partly
responsible for extreme weather events. Discuss. What strategy has been adopted under National

Agriculture Disaster Management Plan to strengthen the resilience of the farming community in
ol India? (Answer in 250 words) 15
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82 FAT ATH AT & T T seeraArg oAt st off wieg £2 (39 250 a=Et # fifv)
Some regions in India, including Delhi, are highly vulnerable to the impact of earthquakes

originating in the Himalayas. Discuss. What institutional measures have been taken to mitigate

earthquake losses in India? Do you think there are significant gaps that still exist? (Answer in 250
words) 15
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Recently, scientists announced net energy gain in nuclear fusion reaction, which is considered as
a major scientific breakthrough for the future of clean energy. What are the advantages of nuclear

fusion based power generation? What are the limitations in using it to generate electricity at a
commercial scale? (Answer in 250 words) 15
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Keeping in view the recent amendment, examine the efficacy of the Prevention of Money
Laundering Act, 2002, in tackling the menace of money laundering in India. (Answer in 250
words) 15
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mﬁmmwgl 7 @avt § fuza F oo us gorga o gamsw (39T 250 =t
Discuss )the security threats present in the Indian Ocean Region (IOR), which have a direct
bearing on India’s maritime border interests. Suggest a robust strategy to deal with these threats.
(Answer in 250 words) 15
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